Answer any five questions

1. What is the overall process of control over the financial adminis

Explain in detail.

2. Comment on the principles of allocation between capital and revenue expenc

capital scheme.

Briefly explain the provision of Transfer Entry in Government Accounts.
(15 F5%

3. What is Central Audit? Describe the provisions and procedure of Central Audit.
20 m

4. What is appropriation audit? Describe the procedure for appropriation audit.

20
5. Briefly state the procedure of audit in relation to the followings: i
a) Investment At

b) Reserve and Reserve Funds

¢) Deposits.

6. How is control exercised effectively over public expenditure by Parlia

 the function of Public Accounts Committee in this respect.
t

-

rite short notes on:
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- PART -1

o

PAPER ~II: CIVIL AUDIT, ACCOUNTS AND SERVICE RULES (WITHOUT BOOKS)

d: 3 Hours

Note: Question No. 1 & 2 which are compulsory and any four questions from the rest.

(a) What is Foreign Service ?

4

(€) What are the provisions regarding leave and pension contributions of a Government servant

{b) What is the difference between Deputation and Foreign Service ?

who is on Foreign Service and how those are to be regulated ? 8 :

(d) How is reversion from Foreign Service regulated? 5

How does a Treasury Officer deal with recovery of subscription from Provident Fund, accounting

thereof and withdrawal thereof. Specific mention of TR Forms Nos. is desirable. 20

Briefly discuss the following:
{a) Interest on delayed payment of gratuity.

(b) Pravisional pension where departmental or judicial proceedings may be pending.

State briefly the guiding principles to be followed by an officer before entering into contr

4
'

agreement.
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(WITH BOOKS)

{1l = PUBLIC

4

Answer Q. No: 1 and any four from the rest.
(Quote authority in support of your answer where necessary)

d WS
~ Write the Cash Book of Sh. X Executive Engineer of a Building division for the month of j“!?eh
the particulars given below. Indicate the classification of various transactions, close the Casf

give analysis of the closing balance. Give short explanatory notes where necessary.

Opening Balance
Cash
Imprest with subordinate Sh. A

Temporary Imprest with subordinate Sh. B -
Cheque dated 29.7.2013 favour of contractor AB on account of final bill for Rs.40,000

lying in the chest is shown to be cancelled. The contractor refused to take payment of
the bill pending settlement of his claims and the amount thereof is credited to deposit as
the account of the work “ Construction of School Building” had been closed in March
2014.

Imprest of Rs.250 opened with subordinate sh. C and cheque issued. Muster Roll for
Rs.2300 being wages for labour employed on repair of office building received back from
subordinate Sh. B with unpaid wages of Rs.250.

Cheque drawn for Rs.3000 to replenish cash.

Rs.3000 from cash Chest taken by the Executive Engineer for payment of wages to

labour.
Cheque dated 22.5.2014 for Rs.10,000 issued in

and fresh cheque issued.
Received Imprest Account from subordinate S

Total Payment
Sale proceeds of old Newspapers
~ The details of the payment are:
~ Wages to labour for repair of residential Buildings.
Cartage charges on Sores issued to contractor.
artage charges of stores dismantled from work “Constructinga

ation Building” and returned to Stores.
‘ to Divisional Office and back

favour of contractor AB reported lost

h. A indicating the following details:
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bill for supply of f tile
owledgement of stores in g

fem.'lsoo
dvance of pay Rs.1000 and traveling allowance of Rs. 700to a subor

 Paid by the 3™ On A/c Bill of contractor AB for major work “Constructing 2 building for a

secondary school”. The particulars are:-
Total value of work done since previous bill
Total value of work measured up-to-date
Total up-to-date advance payments for work not yet measured
Total payments already made in 2 previous bills
Recoveries from the bill:
i) Value of material issued for the work in April
i) Amount creditable to other works:-
a) Recovery as advised by another Division
b) Value of materials supplied in March for the work 3,700)
“ Constructing a Hospital Building” 5 Il5
iii) Security Deposit @10% and IT@2% 7
29.6 Payment for office Pay Bill for June — gross amount Rs.50,000 .
Deductions:- (i) Rent Rs.500; (i) Income Tax Rs.250 (iii) G.P. Fund Rs.640; (iv) Advance of \
Pay Rs.300 (v) Festival Advance Rs.600 , ‘
Purchase of Revenue Stamps Rs.50. 4 A
(20 Ma

2. Post the following transactions of contractor Y in Contractor’s ledger and close the ledger:-
{a) There is an opening balance of Rs.225/- recoverable from the contractor for another Work ‘B’
(b) First Running Account Bill of Work A paid as per following details ;
Rs.
(i) Secured advances as admissible at assessed rates 40,000
- (i) Advance Payment
] Value of work done

Recovery of Work ‘B’ was made from this Bill

40 bags of cement @ Rs.50 per bag issued to Work ‘A’ from Stores, recoverable @Rs.40 per bag
: from contractor as per agreement.

ecured Advance Rs.7,500 allowed for steel sheets brought at the site of work.
nd&mmng Account Bill paid for Work ‘A; as under:-
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: ' ent on stock-taking. :
cted from sale of shovels.

ure . - vl 1 -
" of Rs.300 incurred on the carriage of surplus materials from a wo
rom one work to another work.

;dump sum contract
1¢lssue Rate
hedule of Rates.

istinguish between any four of the following.

Intermediate Payment & Recoverable Payment.
Market rate and Issue rate.
Grant and Appropriation.
Direct and Indirect payment. -
Work Expenditure and work outlay.

he fundamental principle on which accounts of stores are based?

‘main categorles of stores?

d deﬁcient on stqck taking classified?

f stores fun

e
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-BUSINESS ORGANISATION, MERCANTILE LAW E

:+ 3 Hours Full ¥
pass M

gEOUP - A

Answer Question No.l and any two from the rest

Critically analyze the foreign exchange management of India £

1991.
Analyze the complete document ation and procedures for customs
clearance at sea port for imports.

iness" - analyze a
159

"A good f£iling system is imperative in every bus
and explain this st atement .

Discuss the importance of warehousing in a logistics system. 15

Write short notes on the following t-
(a) Escrew Instruments

(b) Digital Marketing

(c) Accommodation Bills.

GROUP =- B

Answer Question No.,6 and any EWO from the rest

nalyze the doctrine of privity of contract.

t ions of domination of Will in

1
P

critically a
Wwhat are the various presump
case of lack of free consent ?

~uss the legality of a minor's agreement.

an sell goods and give
- \.cni.tically;analyze

title to the buyer \
this st atenl.gn .

e
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(WITHOUT BOOKS)

Group = A
Answer Question No.l1 and any two from the rest

;?n lst January, 2014 A and B entered into partnership sharing Pfjﬂ
"and losses in the ratio of three-fifth and two-fifth respectively.
They did not keep proper books, but the following information 1is
ascertained from the records till 3lst December, 2014.

(a) All cash received on cash sales was banked promptly after
keeping R.700/- per month for meeting petty expenses and
after withholding the amounts for partners' drawings which
were ¢ A Rs.26,600/~ and B K,14,000/-.

Deposits into the bank as per pay-in-slips were as follows

Capital introduced by A Rs. 56,000/~
Capital introduced by B Rs.42,000/=
Balance of cash sales - k,70,000/=

Collection from customers M,1,36,500/-
Against Bills receivable . 12,000/=

' (c) Payments from Bank as per record t-

To creditors - Rs.2,12,660/=

For staff salary - Rs,17,500/-
Against Bills payable - Rs.7,000/=
For cost of furniture - .10,000/-

sales was earned.

(d) A uniform rate of gross profit of 30% on

les receivéd during the year was ’s.23,000/- and

(e eivab
"w Bills recel ed during the year was Rs.14,000/-. :

Bills payable accept

;fﬂ“, nt allowed by creditors was rs.3,500/-, discount allc
%t?:gztomers was Rs.4,900/- and Bad debt ’.2,100/=. e -

the amount owing to credi

, 4
December 2014, the & by debtors wa

was %.28,000/- an

Scanned by CamScanner



ERay AT e o

is the Balance Sheet of A, B and C who_sl

in the ratio of 4 1+ 3 ¢+ 1 on 31st March, 2014

. issolve the partnership. Their capitals are to be
as and when the assets were realised.

Liabilities B Assets Rs,

~ Sundry creditors 26,250 Buildings 50,000

- Bank overdraft 8
1 NS i
i i ired) 0 Machinery & Plant 20,000
Capital A/cs 1 Stock 55,000
A 70,000 Sundry Debtors 60,000
B 30,000
C 50,000
1,85,000 1,85,000
ko WM oy = Iy Pt b 3 3

The following net amounts were realised from sale of assets 3=

May, 2014 B.20,000/-, July, 2014 Rs,15,000/-, Sept.,2014 Rs.25,000/
October, 2014 Rs.40,000/-, December, 2014 R,65,000/-. No further sums
could be realised.

Prepare a statement showing distribution of cash by maximam
possible loss method in piecemeal distribution. 16

3, ABC Electricals Ltd. has its branches at Delhi and Bombay to whom
goods were invoiced at cost plus 25%, The following information
are available for Delhi Branch for the year ended 31.3.2014.

Balances on 1.4.2013 :-

Stock at invoice price - R, 40,000/~
Debtors Rs. 12,000/=
Petty cash Rs. 150 /=

Transactions during 2013-2014 :-

Goods sent to Branch at I.P. - Rs.4,20,000/-
Goode returned to H.O. at I.P.- R, 15,000/=

rmal loss at I.P. Rs. 350/~
pilfered at I.P. B. 3,000/-

lost by fire at I.P. RB. 4,000/-
Co. paid to H.O. Rs, 3,000/=
petty expenses Rs. 32,000/~
e Rs. 400/-
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I,Oe,f- was installed, Installation
o s was decided in 2005 to change
nishing to straight line method

- Show Machinery A/c in the books of the Company for 200.'5“.‘ S 16

anaji Ltd. which sells goods on hire- ofit
of 20% on sales, have the followingrl:agzigl::s?-at » GrosE 4

Stock on hand (at the shop) -

on 1.4'2005 ) 309’000/-

Stock with customer on hire-purchase on 1.4.2005 R, 10,800/
Purchases e o Rs.19,380/-
Goods sent out this year R.26,100/=-
Instalments due (customers still paying) ¢ .

on 1.4.2005 - Rs. 600/~ B |
on 31.3.2006 — B. 900/- A 1

Pregare necessary accounts for the year ended 31.3.2006, if cash of
Rs, 18,000 /- was received during the year by way of irstalments. 1

,77

Group - B o
K
} Answer any three cquestions u

| 6. Prepare an audit programme of audit of a hospital. 16

7. (a) Distinguish between verification and valuation.

(b) "An auditor is an watchdog not a blood-hound" - Explain. 8 + 8

(a) Distinguish between Government audit and Commercial audit.

“ (b) Write the functions of C & A.G.
2 Govt. & State Government.

in respect of audit of Union .
8 + 8
what are the rules of appoinfn\ent of a new auditor in place of
tiring auditor ?

notes on t=
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II—C 5§r ACCOUNTING, 'ACTORY ORGA
MANAGEMENT ACCOUNTNG

(Without Books)

»d—23 Hours

Answer Question No.1 and five m&g west
wing: (

‘Wiite short notes on any four of the follo
(a) Normal loss and abnormal loss; (b) Selling and distribution overhead:(ic) Batch costing; (d) Joint product ¢
product; (€) Production budget; (f) Production control ; (g) Margin of safety ; (h) Cost-plus contract.
(6+10)

(a) Discuss the duties of manager in factory organization.
11 it be effective?
safety. (2+5)

(b) What do you mean by material control system? How wi
2 Draw a break-even chart 1o show margin of

|, (a) What do you mean by break-even point
(b) X Company Ltd. estimated the following data for the coming year.
' Sales (1,00,000 units) Rs.1,00,000, Variable cost Rs.40,000; Fixed cost Rs.50,000. Find out-—

(a) P/V Ratio, B.E.P and Margin of Safety

(b) Evaluate the effect of

(i) 20% increase in physical sales volume; (ii) 20% decrease in physical sales volume ; (iii) 5% increase

variable costs; (iv) 50/, decrease in variable costs; (v) 10% increase:in fixed costs, (vi) 10% decrease in fix
costs; (vii) 10% decreases in selling price and 10% increase in sales volume; (viii) 10% increase in sel
and 10% decrease in sales volume; (ix) Rs. 5,000 variable cost decrease accompanied by Rs. 15,0001

4 (a) Whatis Taylor’s Dlﬁ”erenhal Piece Rate System of wage payment?
the books of a company for the month of March 2015. Write up a sto! €S

(b) Following transactions are given in
" FIFO method and show the _up of value of closing stock.
March 1 - opening balance i . i
March 5 — Purchased 100 units @ Rs. 7 per unit
March 7 — issued 400 units
- Me hased300mﬁts@Rs.8pcrmit
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ng Quantity (EOQ) and its limitation.
00 units of raw materials which mststRS- ggt l::xengency
afety stock of 1 month’s requirements to meet & :
Eeonmc lot size; (b) Ormgdmtt);e (c) Ho:::;g comst; (d) Total cost; (€) If( o
5% on a lot size of 4000 units, should it be accep :
Over or Under Absorption of Production Overheads? How does one deal with the
on Production Overheads? e e Tiotir Radb:
parti a Comprehensive € rour : . e
gii pm gcmpttiemachjngr(esubject to depreciation at 10% p.a. on original cost) Rs. 21,600
orma ing hours for the month (the machine works only 75% of capacity) 200 hrs. .
Vages of machine-man Rs. 4 per day (of 8 hrs.) &
‘ages of helper (machine attendant) Rs. 2 per day (of 8 hrs.)
ver consumption (HP) estimated at Rs. 150 per month for time-worked
Supervision charges apportioned for the machine centre Rs. 300 p.mm.
- Electricity and lighting Rs. 75 p.m.
Repairs and maintenance (machine) including consumable stores per month Rs. 150
AInsurance of plant and building (apportioned) p.a. Rs. 1,000 -

' general expenses (overhead) p.a. Rs. 2,160 ,
Production bonus payable to workers 33 1/3 % in terms of aggregatte of basic wages and dearness allows
orkers are also paid a fixed dearness allowance of Rs. 75 p.m. i
10% of the basic wages and deamess allowance against leawe wages and holidays with pay f
prehensive labour cost for debit to production.

een Standard Costing and Budgetary Control
of a certain chemical mixture is:
al A at Rs.200 per ton; 60% Material B at Rs,300 per ton; A sttandard loss of 10% is expected :
they used 90 tons of.Matetial A at the cost of Rs.180 per ton, 110 tons of Material ]
® weight produced is 182 tons of good production. Cailculate and present Material pri
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|, frefefad swao @ fe< § e Fif .'
~ Happiness is a state of mind. If there is something money can’t
mple things in life. but still runs after wealth, pomp and pelf. We crav

enthouses, exotic food, travelling abroad—generally splurge money in pursui
feel that our forefathers were happi

and ended with the setting sun.

buy, it is happiness. One can be happy wi
¢ for high positions, sky rocketing

t of happiness and buy stress, ill-t

d disillusionment in return. Compared to us, I strongly er. Their life was sl

d their needs minimal. Their days started with the morning sun

379741,

Usually a volcano explodes and in so doing causes terrible devastation and death. Then it sits there, caln

ssiding over the havoc it has caused. But uniquely Krakatoa did no such thing. For many years, Krakatoa had b
and went mad and disappeared. Six cubic miles of roc

sland of no consequence. But in August 1883 this little isl
apsed into the sea and with the mo:

pst of the island’s build, just vanished, either blown into the atmosphere or coll

inderous roar and the greatest loss of life ever recorded.
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